AHEXREBFZBAREXEZR BEETIL 1. £BHEHE
R BENES m | wEm | ok |MREk | ssseeas | 70 |DEEREES %
SEET 1 g o 1
EEFHEREES 5 @= | Oxl i
TR BB Rk Er R 5 @= | Oxl i
Faa 7 FH 5 @= | Oxl i
EEFHEERY 1 5L i
ZERERE 2 = 1
Riaz 5 w= i
B 5 w= i
Q BEH 2 et 1
3 [EEART 5 w= i
E Haipie 2 @ 1
B |uEEa 5 w= i
2 £IEED 2 EES 1
§ B FoEE R 5 = i
ﬁj B Fones 5 = i
%[5 [pEowss : | &= i
# |2 [msofs 5 = i
2 lexar 2 = i ER
T (St 5 = i
B e pg 2 = {
L [EEAPHAEFE) 2 = 1 BiE
3y = [FEEEAF 2 = {
B i 2 #E 1
* lgEa 2 = i
HEDEEET b 2 = 1
FEDEEETIED 2 = {
EE EX{Eazany ~Lmy 2 @= 1
3 |E@ibEma 2 =z 1 FE SIS
;ﬁ BREEmD 1 wE 1 RO
H|EmmEE 2 = {
MR 2 = {
HROHIE 2 = {
O 2 = 1
e [amtm 2 = {
") rias 2 4= i
v [EEPER 2 = 1 BiR
7 o 2 = {
" Baric Englizh 1 1 EE 1
=4 Baric Englizh 2 1 T 1
J]*T Listening & Speaking 1 1 B 1 %
i1 Listening & Speaking 2 1 B 1 %
é Feading & Vikiting 1 1 - 1
= Reading & Vititing 2 1 B 1
1 Commurication Englich 1 1 EE 1 Y
§ % o e : A : o HEWH—TER,
o E ?'_::'/R:nAFﬁl 1 ;\EE 1 >< )i(@?i}gjb\g‘jg;{ﬁbzhﬁé
=3 EEA P2 1 ] 1 4 SIEHELLTERTS
B \ : LB
FfUEB AR 1 Y 1 %
RSB A2 1 Y 1 %
HEEAF 1 Y 1 %
HEISEA T2 1 Y 1 %
s2EE AP 1 Y 1 %
s2EEAFT 1 Y 1 %
BEEE R 1 Y 1
B |[THFaews veric—xl 2 g o 1
g g [THF a0 Stz -2 2 B o 1
18 | B R DEELIE 2 w= o 1 .
g AsEara 1 wE 1 =T
B [Gmsrn 1 Y 1
2 |E AL TOH RS 1 Y 1




R BERES wiy | EEmE | o |ERew | sswees |, 700 |EEECEER e
B B0 : | == 1
5 (B 2 s i
| m |EEeesR 2 e i
fg 5 T - M E T 1 Il 1 B
- | - U e i e
o lE e 2 e 1
#O|Y | Featiznal 2 B 1
811 [Fomriaa 2 am 2
1 Rt : | s 1
7 7 i 2 i
B |ioa 2 e i
o [E 2 [AmoE 2 | == 1
B [f ) [Pzl A 2 am i
, |EofEEes T wE T i
- RRLK — R Ea 1 | =8 1
1 RN ] Nobiol Al 4 i)
" iﬂﬁ; REAK - LD 1 ek 1 L@Eﬁgﬁ{?
a [T Remo - 2 I |@RTseEnns
B 5y (e~ EEd 2 EY 1
B e N i
%1 R EROEE OB
%2 HASE: HABEE DR R AR OIS TR




ABREFHMABXREERE BEEETIL 2. EMHEE
T EE BERES EiEE | SRR | e IS | FEIERT z&?‘/;];;&b E:::giggi
ARFEEER 2 @ ) 1 HE
5  |[EEFETEREE 1 EY s} 1
P e 2 #s 1 £HE
Z |mwvizaEm i 2 | O i i
| REREEED 1 FE e} 2
B lemareiies 5 e 2
HEIE R 2 et 3
i [Eomigas 1 2 #= O 2 BHE
S lammrxT 2 %% o 2 i
= 18 | AR EEEY 1 =8 o 2 £HE
g R e 2 E = o] 3 R
RTSIEIRE | 2 @ ) 1 BHE
AESIEIRE I 2 @ s} 1 S
7 o [weEnTEE e 2
fﬁ% Eerae 2 2z | o >
oy (MY 2 @ o 1 BHE
g L B AR 2 E T3 ! 2 BiE
=1 B [prroes 2 w= | O > i
= ik 2 #= O 1 BHE
g H{rE 1 =5 O 2 2
g BREELE 2 @ o 1 HE 2HE
i B 1 = o 2 HE BHE
T B 2 #s ! 2 HE BHE
& ER&ELYEE(ELOENETZT) 1 e 3 o 2 #5{E £HIE
~ | 2 @ ! 1 HE BHE
*;’ TR S ) 1 = o 2 HE £HE
e 1 =T e} 1 BE
B crimersg 1 =Z o 2 HIE
BEHEREE 1 =3 ! 1
B 2 @ s} 2 aHE S
BREEEEE 1 - O 3 HE £HE
5 [BRREE] 2 @z o 1 HE £HE
&5 | BHRET T 2 s o 1
] 1 S s} 2 2HE
e 2 @ o 2
; BT DRI | 2 #= o 2
% (PO URIEEED 2 B o 3
¥ |mErEE=s 1 =g o' 3
. |FEuEEs 2 #s O 2
= [FEuEHES 2 ##= | O 2
e 2 @ s} 3
2 [rmymmm i == | o 3
FEWEETI 1 =8 e} 3
BRE RIS 2 @ ) 2
w | & [EEFEERA 2 E T3 ! 3
| B sy e b 2 #z o 3
: % BRI 7 = R MR 2 2z | o 3
# | F | EEEET e bES 1 =8 e} 3
H R 7 o F e 1 =T o 3
5 |[pmwEy 2 #s O 2 BHE
% o MR wEh 2 #s ! 3
T |nmwarsy 1 =z o) 3 £HE
o [EREETEG 2 @ O 1 AHE BHE
= a|mREREREY 1 =8 o 2 HE £HE
;ﬁg BT FeR AR 2 = o 2 BHE
BB -F R UAEY 1 =5 ! 3 BiE
F o (REATEE I 1 S o 3
RS 1 B O 4
i [OEEEEREET 1 =7 I 3
# |EERS | RhEE 2 =8 e} 4
§ B IR 1 FE | EreiE| 4
R ET 1 =T | EReiE| 4




HE EWEHES HiEE |EEREE | SiE | M | FENRS M’f{;ﬁ‘;ﬂ gzﬂ;gigiﬁi
.o SR 2 %= 4
§E€" BEFER TPl RS 1 EE 4
R ey B 2 = 3
__|rmmu-eme 1 e 4
15 lammmrmrr g 1 e 4
o [T 1 FE 4
;ﬁ R - (R RISE 2 =t 4
EREEahs 2 HE 4
*1% W EROFEE 2 = 3
% | (BEBoEshFE 2 #E 3
ﬁ B [ nmrED i =5 4
| o|lcA-EToskE 2 = 5
E ‘;]" T T LR S 2 BIR 1 e 4
e e 2 HE 3 BiE
! g e -2 2 #E 3 BHHE
SETnF 2~ Y 1 £ o 2
RSO 2 Y 4 =5 o 34
S EFHE 1 FE 3
% |[mmewanes 1 e 3
o [EmwmwEa i w2 | o 3
B |8 $55Ee 1 FE o 4
- FEFEC 1 e o 4
B FEFED 1 BT 4
B AR 1 FE 4
sy EAEPNRECRES) 1 £ 1
EEHE |wpuy F0LEE 1 =2 1




AERBFHARREZR BEETIL

R H OB, BRESBEARIITEF .

HHEEROBE . SIFEEEIR T b osiE ERERs T

3. BEIE (REZE—ERET)

s BN mEE | EERE | o | RS | FETERE
e 5 4= o 1 o
HE B 2 e o 2 o
WE LR 2 = o i o
T lepremama i 4= o 2 o
o |EsER 5 4= o : o
= |[pEmEs i e o 2 o
B |[EEuEs 2 = o 2 o
= |[eiEena 5 4= o 3 o
ic |marrerEonms i = o 3 o
%i WE - 1T 1 s o 3 o
5 |mriema i = o 3 o
”g TR 5 =t o 5 o
SRR ) > B o i o
FENEEDEE i = o 4 o
FENEED i =T o 4 o
%ggf% SRR 2 =S 0 3 o
Beily (FHEFZEUHRD 2 ELE S O 3 O




